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e Choose the correct answer:

1) Incisal liability is:

A. Difference in space between maxillary and mandibular incisors
B. Difference in space between primary and permanent incisors
C.Both Aand B

D. None of the above

2) Malocclusion can lead to which of the following

a) Abnormal muscle function
b) Increased caries

c) Facial asymmetry

d) All of the above

3) Prolonged thumb sucking causes which of the following.
a) Torsoversion of teeth and crowding
b) Anterior cross bite and posterior open bite
c) Posterior cross bite and anterior protrusion
d) Changes in the occlusion sufficient to allow the more potent deforming
muscular

4) Which of the following is not an etiology of malocclusion?
a) Genetic factors
b) Supernumerary teeth
c) Ectodermal dysplasia
d) Lip sucking
e) Gingival inflammation



5) Multiple supernumery and uerupted teeth are the characteristic features of
a) Treacher Collins syndrome
b) Ectodermal dysplasia
c¢) Cleidocranial dysplasia
d) Crouzon syndrome

6) Spacing between deciduous dentition is:
A. Physiological Spacing
B. Developmental Spaces
C.Both Aand B
D. None of the above

7) Tongue thrusting habit may be accentuated by:
a) Prognathic mandible
b) Deep bite
¢) Enlarged tonsils
d) Cross bite

8) Thumb sucking is normal up to:
a) 2 months
b) 12 months
c) 3.51t0 4 years
d) 12 years

9) The common clinical feature associated with tongue thrusting habit, thumb
sucking habit and lip biting habit is:
a) Posterior cross bite
b) Anterior cross bite
¢) Proclination of anterior teeth
d) Posterior open bite

10) Mouth breathing may be due to:
a) Obstructive adenoids
b) Deviated nasal septum
c) Habit
d) All of the abov



